X By 7I%It§ -81 HY =HE .
2 ot 00| AL HPR 4 AL,

Xz S L 0 On Ds K Qx
|UH-CT * e &0
ZEYS =3 0 ! L& .
|mmuuﬁ : L
b =L X 8 BO| BEY YYY A9, WAV I HEe HRU| BYLT BaUL, _
[SKD X ][ g2ilshE A" 155~60HRC (Max; 63HRC) 2f EHEof| Hetstct | LiAL 73 EE2 "1.5D 0|6t " 23t , £HES 12{510] AH
Zot 20l 5 MRULICH Offf 2% XSS 6H ALK 17 AHZHE HEUL
A T 983L Ch:l:'ll-fer S (mLm) (n12m) (mr?w) (n?r;) (mm) (nﬁﬁ &= Y
nk-[=+/8"7 zaa nIF-i LiALE
M2x0.4 @) UHCR2.0E5 5P P3 0 | 8 - 4 32 6 3 p
M2.5x0.45 @) UHCR2.5F5 5P P3 44 95 | - 4 32 6 4 p
M2.6x0.45 @) UHCR2.6F5 5P P3 44 95 | - 4 32 6 4 p
M3x0.5 O UHCR3.0G5 5P P3 46 11 - 5 4 7 4 p
M4x0.7 O UHCR4.015 5P P3 52 0 13 - 55 45 | 7 4 p
M5x0.8 O UHCRS5.0K5 5P P3 60 16 | - 6 45 7 4 p
M6x1 O UHCR6.0M5 5p P3 62 19 - 62 5 8 5 p
M8x1.25 @) UHCS8.0N5 5P P4 70 0 2 @ - 7 55 8 5 e
M10x1.5 @) UHCS01005 5P P4 75 24 - 85 65 9 5 e
M10x1.25 A UHCS010N5 5P P4 75 24 - 85 65 9 5 e
M12x1.75 O UHCS012P5 5P Pa 82 3 - 105 8 1 5 e
M12x1.5 A UHCS01205 5P Pa 82 3 - 105 8 1 5 e
M12x1.25 A UHCS012N5 5P Pa 82 3 - 105 8 1 5 e
M14x2 A UHCS014Q5 5P P4 88 3 - 125 10 13 6 e
M14x1.5 A UHCS01405 5P P4 8 3 - 125 10 13 6 e
» Az HE eo L 2 8| D | K | & | ex | wu
A - &A= Chamfer o= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | =7 | ©°
M16x2 A UHCS016Q5 5P P4 95 3 - 14 1 14 6 e
M16x1.5 A UHCS01605 5P P4 95 3 - 14 1 14 6 e
M18x2.5 A UHCS018R5 5P P4 100 35 - 15 12 15 6 e
M18x1.5 A UHCS01805 5P P4 100 35 - 15 12 15 6 e
M20x2.5 A UHCS020R5 5P P4 05 35 | - 17 13 16 | 6 e
M20x1.5 A UHCS02005 5P P4 05 35 | - 17 13 16 | 6 e

Think threads with

YAMAWA

7

1)
1=1=]

o5l (Oioe:
=Ihg 02 nE

I8

24
e

OE IMrekd (oo
(4

It 2rM OE WA o I
- 4»iin

(01
=

(REOIOrEL) m
[[-(=1=] [

(
\l
[

I / ] ommrs/ ml!lnmrs/ [pI=]u! / My e

281



